EARAROBEEIERT — 2 N— IBISH —F

201353A3H (B) 2m+14H

R EEEXY

REEF 4t [HETE] i

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 gl 7NTFTUT i 3 ﬁ%’é‘ 1:(5_2).8 2-2-2-2 |35.8| 83.4 | 10 :1_320) EE(Q;?% é%ﬁ)
L:Yrh—> BTLIFITT—F MEHS
S8 -, = s 3 | IHRSE 1:52.8 1-1-1-1 | 35.9| 82.6 | 5 474 | KEEER (X8)
2 1| ¥>70=v7+4 54.0 (7€) (+4) | _B) TS
RFATAT v — BVYIAI YT LIS
N i 3 | dtRER 1:52.9 9-8-8-10 |35.1| 83.3 | 2 | 442 |EHREC (i)
30111 KZd> b=7 54.0 (7€) (+2) FEHES
R:RTAMTZXN B:hHTTIb—=7 HET7—L
5 S A 4 3 | BEIES 1:52.9 4-4-3-3 |35.7]83.0 | 8 446 | RARIL (FiH)
4|13 7O 0 IN=S =7 54.0 (7€) (o) |TEAR
Z:Wh—> B:TvIIM> $#HE IER
35 3 | EHHBE 1:52.9 8-8-8-8 |35.1| 83.3 | 6 418 | FELERE ()
5|5(10) S 77NV T7 A7 54.0 () Lo | AT
R:F4—=TA2NT7 b B:iAILNFF N 45035
SN A ft 3 | ERME 1:53.0 3-3-3-3 [35.7| 82.0 | M 446 | FEE= (FH)
6 7RV T 54.0 (1/2) 4y |H H >zA7 - nbse
Ry T2AE—N B:TUIE> H—L—+TvIN> - T7—LBERS
; —\ s 3 | EAEE 1:53.1 4-5-5-7 | 35.5| 81.1 | 13 | 418 |=/=#F (%)
1 : eSS a2 54.0 (3/4) Ly |BEE
L:7V%tx BFAXILETY KRB
=, = 5 # 3 | W. Eafvy 1:53.2 9-8-8-8 | 35.5| 80.1 7 418 | REAFMA (EH)
818(15 NZ2T94—-> (2 E) (+6) (B) ¥>7F-—L-—>>7
R:xAI=ZTF—Z BANL—T(—> J—H Ty — I
i ft 3 | ZHE 1:53.2 6-6-5-5 | 35.6| 80.1 | 1 516 | KEFR— (i)
9 3| bt r—2a 54.0 (2 E) © #) JU—>T7—L
LA TAT v — B:II7onNHF— XF A
RUTON it 3 | AtEiE 1:53.3 15-14-15-15| 34.9 | 79.4 | 9 438 | BEFNE ()
10/5|9| 7TE=FXZ K 54.0 1) 4 | # G1L—v 7
R:2FA4d—I K B:Yv—T*xy J—HrTr—LA
i = 4 3 | ML 1:53.3 16-16-16-16| 34.5 | 79.6 | 4 450 | BWINEE (EH)
1112|771 bFl)— 54.0 ) (-a) | 'HR
LivAFINTY BI-E-FE W77 -4
o = # 3 | FIBEX 1:53.3 12-13-11-11| 35.3 | 79.3 | 3 464 | EET (EH)
12l 5| A7 bETT b 54.0 (nF) g | &) *vAybTr-4
R:F4—TANT N BT RS J—H Ty — L
— _5 4 3 | SHEZ 1:53.5 12-11-12-11| 35.4 | 77.2 | 15 | 468 | EE3L (k)
13 4 NAZ—=TYXA=7 54.0 (1 1/4) (-16) HU—IE‘HE
R:T7yv3IT—L BAVEANRTLT« AFRO4%ES
S — . i 3 | AL 1:53.6 6-6-5-5 |36.1| 75.1 | 12 | 458 |FE\EE (KH)
14/ 8|16 EF =71 —> 54.0 (3/4) Lo | EEES
RixLgAqO— FB:ILCFEXZ HET7—L
; . 4 3 | EHA 1:53.7 11-11-12-13/ 35.6 | 75.1 | 16 108 | AREE (EH)
1512 FA X174 —> 451.0 (172) Lo |EAE—
VLK YTYRIR BiA— kL TF— BiE 1
i . v K 4 3 | MEBZ 1:53.8 14-14-14-13| 35.6 | 74.2 | 14 422 | BUEER (ERH)
167[14| 7T FT Ly K 54.0 (172 o |HiEES
v NyahTr B4 5vF AL
@ 71 L
) 48.7-35.9
NA>Z4 L | 12.8-12.3-12.8-13.3-12.9-12.8-12.2-11 .6-12..1
® I —F—@EBIERL
13—3— 11,8,7(6,13) (3,16)10(1,15)12(4,5)14,9-2
2=1—f— 11,8,7,13,6(3,16) (1,10,15)-(4,12)5(9,14)-2
Gol=5r= (x11,8) (7,13) (6,3,16) (1,10,15)5(4,12) 14,9-2
40—+ — (x11,8) (7,13) (3,16)6(10,15)1(4,5) (12,14)9-2

ABICOVWTRDTEEERROODE. TR LIV,




